Day — 5 — Session - 2 — (SET - J)
PAPER - Il (SET -9) - CDP

Multiple choice questions given in the examinations are related to
this memory item

1. Attention

2. Retention

3. Recognition
4. Recall
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Mechanical aptitude tests are
1. Scholastic Tests
2. Vocational Tests
3. Aesthetic Tests
4,

Language Tests
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A boy with an intention of getting first place in his studies in the
class, has studied well and achieved first position — The type of
motivation here is

1. Intrinsic Motivation
2. Extrinsic Motivation
3. Positive Motivation
4, Negative Motivation
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The theory proposed by Eric Erickson

1. Psycho Social development theory
2 Psycho analytic theory

3. Social learning theory

4 Observational learning theory
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The process in which Engrams that are in encoded form are decoded
into their original form is called

1. Retention

2 Retrieval

3. Recognition
4 Relearning
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To cover ones hatred feeling on others expressing love hypocritically
is known as

1. Regression

2 Rationalization

3. Reaction Formation
4 Identification
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The learners who learn the lessons easily by doing activities, projects
and through gesticulation are,

1. Auditory learners

2 Visual learners

3. Bodily kinaesthetic learners
4

Nature learners
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The correct instructional order followed according to Bruner is

1. Activity method, Problem solving method, Project method
2. Symbolic method, Enactive method, Iconic method

3. Activity method, Project method, Problem solving method
4. Enactive method, Iconic method, Symbolic method
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The objective which is related to psychomotor domain

1. Evaluation

2. Responding

3. Naturalisation
4. Characterisation
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Experimental design in which a single group acts as both an
experimental group and control group

1. Equal group design

2. One group design

3. Rotation group design

4. Parallel group design
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11.

12.

Programmed learning is based on this learning theory
1. Operant conditioning

2. Classical conditioning

3. Insightful learning
4,

Learning by observation
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The gradual increase in the capability of doing duties, increase in
complexity and also skill development in the child as the child grows

1. Assimilation

2. Growth

3. Development

4. Accommodation
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13.

14.

The process in which learner learns through imitating a popular
person’s behavior and attitudes by seeing him directly or watching
him in the Television is known as

1. Social Scaffolding

2 Vicarious Modelling

3. Zone of Proximal Development
4

Emotional Catharsis
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The environment affects a person during this period
1. Fertilization to adult stage

2. Birth to death

3. Fertilization to death

4, Birth to adult stage
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15.

16.

A girl stopped using wrist watch after buying a cell phone, but now
and then looking at her wrist to know the time is called

1. Reinforcement

2 Higher order conditioning
3. Generalization

4 Spontaneous recovery

PEFR EF) SoNS 8[IN FEE0 IFRVS @Irow, 3B e
Y)EY)E> DJAH0 §%00 &5 VY SoedseTY o 3B

1. @562)@50
EQBEDL J20EIo
3"355°§)§§6s'ao

e N

eﬁoﬁoe:a ?ogif’os‘géo

The stage at which children are able to understand their Sociometric

position and also the Sociometry of others is

1 Early Adolescence
2 Late childhood

3. Adulthood
4

Late Adolescence
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The learning which helps a person to acquire the knowledge about
the World around him and to handle it is known as

1. Cognition
2 Perception
3. Sensation
4

Stimulus
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Find out the wrong pair from the following
1. Constructivistic theory - Vygotsky
2. Bobo dall study — Albert Bandura
3. Multi factor theory — L. Thurston

4. Multiple intelligence - Guilford
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Moral stage in which morality is estimated depending on physical
consequences

1. Authority and social order maintaining morality
2 Naive hedonistic and instrumental orientation

3. Good boy morality
4

Obedience and punishment orientation
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14 year old Lalitha’s mental age is 15 years. So Intelligence
Quotient of Lalitha is
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21.

22.

According to this theory a person who repairs the engine of a motor
car is able to repair a motor boat also,

1. Theory of generalization
2 Theory of transposition

3. Theory of ideals
4

Theory of formal discipline
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The Psychologist who said that ‘the children are born with innate
abilities through which they can learn any language’ is

1. Bandura

2 Eric Erickson

3. Noam Chomsky

4 B.F. Skinner
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One of the following is not connected to the educational system of
mentally retarded

1. Model schools

2. Residential schools
3. Special schools

4, Home training
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It would be good if “the boundaries between the subjects should be
erased to some extent to make the children learn joyfully and acquire
holistic knowledge” — This was stated by

1. Secondary Education Commission 1964-66
State Curriculum Frame Work - 2011
National Educational Policy - 1986

A

National Curriculum Frame Work - 2005
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25.

26.

As per RTE Act — 2009 teaching hours in an academic year for
classes 1 to 5 and classes 6 to 8 respectively are

1. 750 and 950

2. 1000 and 1200
3. 800 and 1000
4 1000 and 800
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1. 750 308030 950

2 1000 So8as» 1200
3. 800 So8asx» 1000
4 1000 X>8a30 800

“The roots of any subject can be taught successfully to anybody at
any stage of development” — This was stated by,

1. Piaget
2. Bandura
3. Bruner
4, Kohler
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28.

The overall purpose of evaluation in terms of teaching learning is

1. to assess the extent of use of TLM in teaching learning
process

2. to assess the merits and demerits of teaching learning process

3. to test the achievement level of learners after teaching

4. to assess the performance of teacher’s teaching
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One of the following is not a counseling tool
1. Interview

2. Psychological tests

3. Observation
4.

Rating scales
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30.

The psychologist who proposed the ‘theory of Instruction’ and also
the author of the book ‘the Process of Education’, is

1.
2.
3.
4.

Gordon Allport
Jerome S Bruner
Lev Vygotsky
Alburt Bandura
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The popular method used in treating learning disability is VAKT,

here ‘T’ represents

1
2
3.
4

Tactile
Tactful
Toilet training

Treatment

2§08 J¥og0 Ko 08 DISYS” VAKT 258 arm (550
o808, 35 & ‘T EAY Ao

1.

Lo

AR

a°e§36§o
¢3r0008¢ B
DES)



31.

32.

Bl - W98 - 2 - 15 - 9 (5080¢5) (24 S8 )

808 JIrg) WA PHOH 2IWo0D HYOoOs
2RO SBSEM Heoe

T DENDHA ffsgoq 550002230t

237°:305300; 6,56& D020

T° JIBASO5068; SHESSKE Hr5°0°!

P DGO (HSPEO TSGR

1 P00 SBSK0

2 (NN ISLIOEAY

3. GEPED0

4 DENHR K'Y

$5508° DY FeSEASH...
H0D FBS® $Y)

2 2RSS0B00 BIS IO

3. alepfbyets

4 RNEPT® DO



33.

34.

35.

808 0> BB (FYHODH IO KYoB0s.

SEBSE® 5D DS @I et I DO SOISY)D
:3655068 SYYOSD HEPHINE S, WS Jerod Zaaéeﬁoé:; SO
&5 D0rgQ) BATBOD SEHIHINE" KSIOSBEP IR, S5
DBYBS TXR) VOBETOY WPFE S), STSS SIS
HTE SEHESETEFTw. S008I S35 B9 oI,
& Y FErSTS 38 B [HArosSKdNED.

2 2o FEEISDHS o ..

L

2. gano

3. 30

4 359

DOPFIVI0D FTIHNGS e
?f)d@?ﬁ&mdﬁg

2. 3E) &

3. B9

4 T°0

WPRSEI0 JTPBSFOEE Q) ™8 S0

1. Zlet](a}
2. es( B
3. [o°

4, e



36.

37.

38.

39.

BODHAS ¢ &od 'fooswl,):éoés'ao oo &;55656S°e>§3 DOST

1.

W N

(BP0
Bty
ARS ples
CbS%éﬁxﬁ

ST 93 DK ‘536;539:5@5550

1.

L

Koo
§d§°o)60
53520

PAREA]

DI DASTORE o) S’ S50Kg, WS BS” gErgRT,
DO E ST BPOIT, IR FIresg (D@

1.

L

2008
eaé&ﬁ‘é
:7%5 o8

@@é‘éwag‘éo

208 ;JS° BrZed BDONS ¥SL0

1.

Ll

5 DoST0Ed FBEO
§SETRHE Js%0
TISE ¥8%0
o), ¥



40.

41.

42.

DS 5EHI8 LIHe SoBew Ko aeSn ¢
1L

L

208 70S° ‘BSOS’ @l w@oﬁrb& > SElafepS
1.

Ll

208 IS® “H -0 -0 - TS BOD JOLRE B0
1.

WD

portell}
o‘Sogméo
2008

&erer0

558 PO SO
dgoaczo
E3039ITTNEO

DY@

DL
[SINSEISION
9O

P

éai.”l&;&oen



PEE 1 SSooieg) Do’ ey B0 S
Sro0hg b Jad

Y DS ) BAEIE SorerEsro, oPo Ko
S005g 1 AOYPA 2R ©0ero’

P TS0 DI0TANO B IEFTEY ErrI8 BobSO.

1. B

2 QOZT°AED
3. o)](aTe)
4 FPHeo

“Y58” &9 D ©50 ...

1. §P0& S0
2. B

3. Na)

4 PRSI (afe)

Keasn - 9% D T T
1. éosemssssoo, o8
VB(SE, GO
CS:éoX:JQ, 2TPEI0

L

2T°E300, egé;iw



46.

47.

48.

49.

208 JS° >y 9 Do DOGA DEPLD ..
L BS0lE50, HED

2. eai}Q, 208
3. DSm(Ss0, 55O
4. D, 5550

300TIS° “9Y” &S DS J§5
L 95res §6ed Sob

2
3. D
4

“oree” - B3 Dedd §)§°)®

1 WO
2 RIASN)
3. BIESY

4 oaleseIoY

OO E§ ©F 00206 JHEIEAS GHBTAOT eFoen
S Dorew ...

1. 27O 2T°ITO)

2. RIALSIOV
3. Zao*agcﬁoém@o
4.  (ScHe



50.

51.

52.

53.

"R - &I $5085°D Hod

L (508

2. esFassod
3. qEwod

4. (FoBI0

“VEDOC%)AQD” - 290 DITPN0
1. ea:éagoomy;s DS3T°A0
CSOSOCSOS D00

&037{3 DS°00

L

2TV(DB° DI
208 8° e858Y 550
1. [afo SRt 0JK08
ASo> P 0 ?
S IS’ B&°
DB Do SenXonrs!

e N

2530 - BDKEION® SOEETED 050

1. (ETNNIITA
2. BORd
3. So&o

4. %o



54.

K5ocsen Soosen B SE) @630) 900550

1.

~wN

63%0@@0?60
BEPITO0ZE0
(eS8 ©eosmro

HIBrE woos°T0



55.

56.

57.

58.

B - SR - o8 -2 -85 -9

S TRYASNE T 5°00DS WoToS® &3S RIS
émbgsm SV 0TI DOE0o

1.

W N

€90¢55¢% ;535'305 Nlejletar

N ()
zr:rag ;535°e>§ K)cgds'a
33 Soreg dgpses
QW DEBo

263”5@"65 §°6§k§;5s°e>§3 BORSY

1.

e N

50653 t.’agéoen, OFgL0
o (§Gen, [Hogredsiren
BERB, EBIVSEE
B0z, [ows)

AT aPRe H& ag ST H020F) 3 T§EE0

1.

L

;565°e§&§ J°§§C5£'ao
£9

w@@“’é@ﬁ J°§§6£'ao
eﬁoemeﬁ@ﬁ s°§§6€30
(PPRBTAE §°5§C5£’30

T Jerge @RS, wrdr oFges FROSTS, D8
RIEARNA AT

1.

Ll

SGaIIE0
@DE°S P80
R°EY VB0

Sy DRFo



& ERIOSE e D08S° wosor oS TR ATY
SEHO B oY) SR 08 BoHeS YR TAHEIS
(DA ousEo

1 &5Spso

2. Safepe

3.  Jopmons SpsSo
4, oI

g8 S0, eago DIEBpSo S0 IEE S0 oS FOR
RISPAY

1. esq?age‘ié &§ RISLINOY)
2P J°es &§ RISVNOY)
=y

JIBE Jensen

~wN

éo)wa"eﬁ &§ RISVINIOY)



61.

62.

63.

English - Paper —I1 — Extra Set - 2

The food was spicy. He ate the food.

These two sentences can be combined using a relative pronoun as;

1. The food was spicy which he ate the food.
2. The food was spicy who ate the food.

3. He ate the food which was spicy.

4. The food was spicy and he ate the food.
Yesterday | bought ......... ISI product

1. a

2 an

3. the

4 No article is needed.

'l gave him the can of wine'.

The correct complex sentence for the above simple sentence is:

| gave him the can having wine
| gave him the can which had wine
| gave him the can and it had wine

The can | gave him was wine



64.

65.

66.

67.

| have never smoked, .............
The correct question tag for the above sentence is

1 haven't | ?
2 don't1?
3. have I ?
4

dol?
Choose the subordinate conjunction among the following.
Though

So

Therefore

W np e

Hence

They were here with us.
The adverb in the above sentence is:

us
with

here

> e

were

In letter writing 'superscription' means:

Courteous greeting to the addressee
The message of the letter

The address of the receiver

A wDp e

The address of the sender



68.

69.

70.

71.

The correct if clause in the 'unfulfilled condition’ is

> w o

If I have lunch, I would not have been hungry.
If I had my lunch, I would not have been hungry.
If I had had my lunch, |1 would not have been hungry.

If I have had lunch, I would not have been hungry.

The past participle form of 'be' is;

> wnp e

was
were
had

been

Choose the lexical verb among the following.

1.

2
3.
4

might
give
had

been

'He is truly humble and brave man'

The above sentence can be corrected as

> wnp e

He is truly a humble and a brave man.
He is a truly humble and a brave man.
He is truly a humble and brave man.

He is truly an humble and brave man.



72.

73.

74.

75.

After floods the land lords fished in troubled water by raising rents.

The underlined idiom 'fished in troubled water' means

caught fish in the flood.
threw fish into the waters

took a bath in the flood waters

> W o

took undue advantage of others' difficulties

Ram said, "l have never been to Kashmir."
The correct reported speech for the above sentence is:

1. Ram said that he has never been to Kashmir.
2. Ram said that | had never been to Kashmir.
3. Ram told that he had never been to Kashmir.
4. Ram said that he had never been to Kashmir.
They may feel jealous .......... your success.

Choose the correct preposition that fits the context.

of
to
for

with

A

They postponed their picnic due to heavy rains.
The meaning of 'due to' in the above sentence is;

added to
via

on account of

H wnpoE

for the sake of



76.

77.

78.

Mohan is a man of obstinacy.
The word 'obstinacy' in the above sentence is;

a preposition
averb

an adverb

w0 np e

a noun

Radha ...... Bhanumathi.
Choose the correct form of verb to fit the context.

1 is knowing

2 knows

3. has been knowing
4

was knowing

Read the following sentences carefully.

a. it was through me that they had earned a greater degree of
admiration and respect from the villagers.

b. and | had been able to realize his dreams.

C. My parents were truly proud of me and

d. Father had provided for my education

The correct sequence of the sentences is:

bcda
dbca
cabd
dbac

> w o



79.

80.

81.

The incorrect subscription for formal or official letters is

Yours obediently
Yours faithfully

Yours sincerely

> w o

Yours lovingly

Raju is an Indian doctor

Choose the correct statement regarding the word, 'Indian

It indicates 'origin’
It indicates 'colour’

It indicates 'opinion’

> wnp e

It indicates 'material’

Choose the subject that takes a plural verb after it.

Each girl
Every girl

Economics

> o

Many of them



[82-84]

82.

83.

84.

Read the passage carefully and choose the correct answers to
the questions that follow.

| would agree with those who say God is love. But | say that
God may be love, God is Truth - above all. I have come to the
conclusion that for myself, God is Truth. But two years ago |
went a step further and said that Truth is God. Even atheists
cannot deny the necessity or power of Truth. But in their
passion for discovering Truth, they deny the very existence of
God. And it was because of this reasoning instead of saying
God is Truth, I should say that Truth is God.

The writer believed

what others said about God
that God is doubtful

that love is God

God is Truth or Truth is God

Atheists are the persons

A wnp e

who do not believe in God
who worship many gods
who do not believe in Truth

who believe in only one God

The writer did not dispute with atheists because

1.

2
3.
4

he believed in God.
he did not like to argue with them.
he was afraid of them.

he knew that Truth and God were identical.



85.

86.

87.

88.

Which of the following statements is correct in respect of one of the
principles of language learning?

1. Language learning is learning grammatical rules.
2. Language learning is a habit forming process.
3. Language learning is acquiring information about the

language that the pupils require.

4. Language learning is learning vocabulary.

The child's ability to reproduce the language depends upon the
extent of:

reading
writing

exposure

A w0 Do

understanding

One of the important principles of the direct method is;

vocabulary teaching is quick and economic
word is the unit of speech

grammar can be easily and effectively taught

> w e

sentence is the unit of speech

The following vocabulary and structures are required by a school
leaving student to get reasonable command over the language.

Vocabulary of 2000 words and 150 structures
Vocabulary of 4,500 words and 300 structures
Vocabulary of 3000 words and 275-300 structures

Vocabulary of 3000 words and 200 basic structures

I



89.

90.

What do you mean by syntax ?

1. Word meaning
2. Word order
3. Word spelling
4. Word sound

This concept involves objectives of teaching, methods to achieve
them and finding out how far they have been achieved —

1. grading

2. examination
3. evaluation
4, marking
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92.

IS - o5 -2-285-5

The result of Bondung Summit in 1955 is

=

Asian countries were attracted towards USA

2. It led to Non Aligned Movement (NAM) with Afro-Asian
countries

Asian countries got co-operation from USSR ( Russia)
Asian countries became members in UNO
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‘Operation Burga’ is related to

Operation against terrorists in Golden Temple
Increase in milk production
Implementation of Land reforms in Bengal

el A

Controlling terrorists in North Eastern States.
‘BIVAS 2T BIF $020H0AIB.
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93.

94.

Bhakra Nangal project is located at

1
2
3.
4

Himachal Pradesh
West Bengal
Odisha

Uttar Pradesh

PERdoKS EPED B8 Both.
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'‘Minimum Supporting Price' is

1.

The price decided by the Government if the farmer wants to
sell their food grains to the Government

Price decided to the food grains by open auction
The price decided by rice miller to the food grains

The price decided by the farmer to their food grains by
himself
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95.

96.

The ore used in manufacturing of glass and ceramic ware is

Bauxite
Chrome
Barytes

> wbh e

Feldspar
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NEFT means

National Educational file transfer
National Electronic file transfer
National Electronic funds transfer

e

National Eligible funds transfer
3 (NEFT) esre
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The Simla agreement was done between India and Pakistan in the
year

PEBBI0 HOAN FITRO Hoe§ ST, 22080 HAOS HOSS O

1. 1948
2. 1998
3. 1971
4. 1964

The amendment related to local self governments at village level

[PoT oS’ LS OO (HIDSTOLH H0ROFONS Coar§ox
Peefar

1. 44
2. 73
3 74



99.

These winds play a crucial role in transporting heat and moisture

across the world

Trade winds
Seasonal winds (Monsoons)
Local winds

e

Jet winds
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100. Find the wrong statement from the following

1.

Self help groups make their efforts to solve various social
problems

Poor families are depending on informal credits
Rich households are utilizing formal credits

Informal credits are better than formal credits - regarding
interest rates.

B3 (208 IS 205D TFY) MrYoS06.
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101.

102.

The incorrect statement in the following

1.

As earth revolves around the Sun, Earth’s axis remains tilted
in the same direction throughout the year

Each revolution of earth takes about 365 days and 5.56 hours
The earth revolves around the Sun on a regular path
Spring starts in Southern Hemisphere on March 21*"

808 TS’ VO g0
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In which of the following forests Vegi, Ageisa, Maddi, Bhandaru,

Gittegi trees grown

el A

The deciduous forests which receive more rain
The deciduous forests which receive less rain
Thorny forests

Littoral and swamp forests.
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103. The manufacturing stages of paper in a sequential order

1.

Cutting of wood, making wood pulp, pressing, rolling,
manufacturing of paper

Cutting of wood, pressing, rolling, making pulp,
manufacturing of paper

Cutting of wood, pressing, manufacturing of paper, rolling,
making of pulp

Cutting of wood, making of wood pulp, manufacturing of
paper, pressing, rolling

RSO SIS’ AAF $FO SV (EoI0
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104. Ameen Peer Darga is located in
1 Warangal

2 Vijayawada
3. YSR Kadapa
4 Medak

@S 28 ST g%, & S,

1. SEoXKS
2. DzscHaedd
3.  YSR &%
4. &

105. Find out the incorrect matching

1. Arunachal Pradesh - Shillong
2. Bihar - Patna

3. Mizoram - Aizwal

4 Sikkim - Gangtok

IISIEETI IOl CloToInToTec

L o%ersS (383 - derol
2. 96 - ey

3. W&o - omxS

4. p§) 0 - 7T°§oﬁ_é3§



106. The continent which totally lies in Northern Hemishpere is

1. Europe

2 Africa

3. South America
4 Australia

T GETER S Ko poto

1. &%

2. es(@S°

3. &5§es 90
4. Qo>

107. The number of time zones in the world

(BH0508°) FeBosere oy

12
18
24
48
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108.

Find the wrongly matched pair

1. ‘V’ shaped valleys — work of water
2. Sea cliffs — work of waves

3. Inselberg - work of water

4, Loess plains — work of wind

808 TAS° ¥8z° 238
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109. Which of the following aspect is not in the National food security

Act 2013

1. Give minimum supporting price to the farmers for their
produce

2. Providing food grains to the lower income groups at

subsidized prices

3. If government not able to arrange food grains, it will give
cash for the people to buy food grains

4, Providing mid day meals for pregnant woman, lactating
mothers and children below 14 years

2013 &8s e85 ZES® 56308° B woo.
L B&oen H080DS H00 D g &8 335D,
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110. National Institute of Nutrition is in

1. Delhi

2. Hyderabad

3. Mumbai

4, Bangalore
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111.

112.

Colour code is used to represent the land cover and land use in maps.
Which of the following pair is incorrect according to colour code.

1.
2.
3.
4.

Dark Green - Forest

Dark Grey - Mountains

Dark Blue — Seas and Oceans
White — Boundaries

208’ DIF STYES, & @Y IS ForHoE” WrDRLD.
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The reason for our illusion that the Sun, the Moon and the Stars
appear to rise in the East and sets in the West

1.
2.
3.
4.

The Eastward spin of the Earth
The Westward spin of the Earth
The Sun revolves around the Earth
The Moon revolves around Earth

SoTL> VoL, WO, SEEed SrinS o0 D8)IrS
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113. Identify the correct match

Peninsula - Italy
Island - China
Bay — Arabian Sea
. Gulf — Zibraltar

IBS BB KYO0E

PwbhE

1. &5y - 369

2. &S - B

3. @PPSR - WONAST D500
4. XS - Aergd

114. The English officer who got the rights to rule Bengal from the
Mughal Emperor Shah Alam

1. Dul housie

2 Robert Clive

3. Warren Hastings
4 Rippon
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115.

116.

The seats allotted to women in Local Governments is

1. 2/3¢

2. 1/3¢

3. 14"

4. 3/4"

TS $0508" QOB TeranoDS LT
1 2/3 Soe

2. 1/3 Soe

3. 1/4 S0

4. 3/4 Soek

The tax which is not levied by Municipal Corporation

1. House tax

2. Water Tax

3. Tax on Movie tickets
4, Income tax

DEFOE HDOO YOI She)

1. 50&3 DY)

2. 8 B8y

3. DI &8 8 H8Y
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117. ‘Do or Die’ — This slogan is given by this movement

1. Civil disobedience movement

2. Quit India movement
3. Non — Co-operation movement
4, Khilafat movement

O Brr HTeI0W’ - e FAS Q &e55SrAS H020H0DIB.
1. CRUNYOICIER €¢350

2. %5 OGS €350

3. VI QoT°ETes éd&‘éoo

4. PoRIS &350

118. Gandbhijis definition to Satyagraha

1. Peaceful resistance

2. Physical weapon

3. Constructive programme
4. Improvement of Khadi
RS ol AKSSO
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Z°OE e3a0550
K)U"&S?"é&§ 965@;530
70 DSV

Ll



119. These articles of the Indian constitution deals with the composition,
organization, powers and functions of the Indian Union Legislature

1. Acrticle 79 to 129
2. Acrticle 76 to 126
3. Acrticle 73 to 123
4, Acrticle 71 to 121

5 TargoKod™ D (PETeren TolE RS Joyer TP BooY),
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120. Chairman of “NITI AYOG”

1. President of India

2. Speaker of Loksabha
3. Vice-President of India
4. Prime Minister of India
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1. oT°5es @@Zz@
S°E%ey ?oo)§5

2°56e8 eécl’@):ae‘ia

Ll

TS (DESH0



121.

122.

The unemployment due to the slackness in business activities in
economic deflation is called as...

1.

2.
3.
4

Cyclical unemployment
Structural unemployment
Under employment
Frictional unemployment

©0% Sroc S0 TGrY ST KRS SoS NG
DHE RS> S0 Deo
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Sarva Shiksha Abhiyan has been introduced in India, with an aim to
provide universal elementary education during

TESTFOS” JDIo0ed g 00588 e0d0d OE50S” B
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1.

2.

2000

2001

2002

2003



123.  Which of the following statements is incorrect

124.

1.

Earth looks blue because a large portion of the earth is
covered with oceans

When we see Earth from Moon we can see both sides of
Earth

Earth acts like a very powerful magnet and attracts us towards
it

On Earth, if we keep on travelling from one point in the same
direction we can return back to our starting point

208 FJS° %oz 550
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The research study on the life style of Gond tribes was conducted by

1.
2.
3.
4.

Rachel Carlson
Eric Habsbalm
Furer Haimendorf
Herry Short
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125.

126.

Identify the false statement

Water flows from plains to plateaus.

The increase of chloride, fluoride in drinking water can cause
diseases affect our bones, teeth

Ground water is renewable resource

The layer of water that is accumulated under the layers of
earths' rocks is called acquifer.

808 AS° ¥85°R BB DS
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The Governor is appointed by

Chief Minister
Prime Minister
President of India
Public
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127.

128.

> e

Identify the mismatch

Amrit Bazar Patrika — Sisir Kumar Ghosh
Bangalee Patrika — W.C. Benerjee

The Hindu — G. Subrahmanya lyer

Kesari — Balgangadhar Tilak

RISISENIETI PO Sl TotnloTer
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“Cricket and Hockey were imported to India by the British and our
traditional games are disappearing, which shows the colonial
mindset.” The above criticism was made by

1.
2.
3.
4.

Rabindranath Tagore
Jawabharlal Nehru

Umesh Chandra Benarjee
Mahatma Gandbhi
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129. The woods used for making pulp to prepare matchsticks are grown
in these forests

1. Mediterranean vegetation

2. Temperate deciduous forests

3. Coniferous forests

4. Tropical Evergreen forests
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130.  This human act will not disturb Lithosphere.

1. Mining

2. Construction of cities with cement and bricks
3. Agriculture

4, Fishing
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131. This is known as “Arab Spring”.

1. Development occurred due to oil mining

2. Revolution against the dictator’s rule in West Asia and North
Africa

Agricultural revolution in West Asian countries
Revolution against the Kingships in Africa
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132. The problems occurred due to urbanisation

1 Extension of habitations

2 Development in transportation and infrastructure facilities

3. Expansion of health and educational facilities

4 Stress on environment in the expansion of required facilities.

DQE3ETE Sy DBYE BVgEo
[>5] ™
1. AR (FPosPe JHTe?
2. Eeee, 0P8 3°§G°§e> )8
(ev]
3. DG, FE§ DT AT ITeE
4. FEO E)S DRS00 HOIEEI0P DHHST) 28S



133.

134.

Economic development is simply an increase in economic welfare —
The definition given by

1. Colin Clark

2 Prof. G.M. Meier

3. United Nations expert Committee
4 Robert Mcnamara
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Transport belongs to this domain in National Income

1. Primary Sector

2. Secondary Sector

3. Tertiary Sector

4. Technological Sector
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135. In our Indian constitution the fundamental rights are incorporated in

this part

1. 2" part
2 3" part
3. 4" part
4 1% part
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136. Directive Principles of state policy are taken from this country's
constitution

1. Constitution of America
2 Japan Constitution
3. China Constitution
4 Irland Constitution
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137. This battle is said to be the root cause for the British to establish
their rule in India

1. Battle of Buxar

2. The third Karnataka war
3. The first Mysore war

4, Battle of Plassey
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138. The place where Rani Lakshmi Bhai died while fighting with British

1. Jhansi
2 Kanpoor
3. Gwalior
4 Oudh
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139.

140.

Social methods - %8 - 2 - & - 5
Identify the statement which is not a core principle of Andhra
Pradesh State Curriculum Frame work-2011.
1. Linking the knowledge with the life outside the school
2 Implementation of continuous comprehensive evaluation
3. Avoiding rote learning methods
4

Culture, language and experiences of children are not taken
into consideration

TR Ay eTRE S0 (APSCF)-2011 ErSE)3S” B0DS
5305 Br@re S’ BA8.

1 2pR) 236 AN BSOS’ BIVOGSO VAo
2 NBOBT DI SaePOSN0 @Ide
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4. DO JOX B, TR, OWUTOD HOKeIISS
B8RS0
The ability of the students to think about social, political, financial

and contemporary issues in a new dimension can be considered as
this social value.

1. Academic value
2. Aesthetic value
3. Creative value
4. Cultural value
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141. The chart that is more relevant to teach Indian National
movement is

1. Time line chart

2. Flip chart

3. Process chart

4. Strip chart

5 wrBBegH0 K000 SRoBO VMBS T

1 SOER T8
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142. The three dimensional chart among the following is
1. Relief map
2. Physical map
3. Political map
4. Special map
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143.

144

To teach the previous history of a concept, the method to be adopted
by a social studies teacher is.

1. Lecture method

2. Project method

3. Discussion method

4. Source method
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Preparing models of historical monuments, visualizing historical
events as if they were real and dramatising as if they were there
though not present - This type of teaching organisation is.

1. Seminar

2 Simulation

3. Symposium

4 Stimulation
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145.

146.

The student after listening a lesson on "Steel Industries in India"
could be able to locate the places in India map. The academic
standard achieved here is:

Reading the text and interpretation

Conceptual understanding

Information skills

> e

Mapping skills

AGY WESBIS” g0 &Y SO TER0e0” FTeg0F0
DT SIS ESBY D0S° 0D 6F) (PBTODH KEOBKOME..

BAD D IEegD57e30 PHODTENT BH)S)
1. a{’bé eao&‘i())) ;5°§g;7°§f007:5¢§o
QAASTCSTTCS

PSINbin o] g@wzgen

Lol

DeFYET§ed

The teaching strategy that can be used by student teachers that
resolves certain problems of normal class within a short span of time
IS.

1. Macro teaching

2. Micro teaching

3. Non-formal teaching
4, Remedial teaching
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147.

148.

The section of RTE Act 2009 that provides Right of free and
Compulsory Primary Education to children with special needs is,

1. Chapter — 2 section 2 (1)
2 Chapter — 2 section 4 (1)
3. Chapter — 4 section 13 (1)
4 Chapter — 3 section 7 (1)
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The Government of Andhra Pradesh is implementing Physical
Education as part of physical literacy, this is to provide the following
child right

1. Right for protection

2 Right to live

3. Right to develop

4 Right to participate
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149. The tests which have more validity and reliability are,
1. Written tests
2. Oral tests
3. Objective tests
4, Interest tests
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150. Which of the following is not related to Socialized Recitation

Method

1. Workshops
2. Seminar

3. Symposium
4. Lesson plan
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